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n=s
X =20l &t 20l & &g YIS
= g =
AtetE e 0l 3,620,000 3,620,000 0
AMStEHE A A2 2,600,000 3,000,000 -400,000
Atshe S A =0l 2,600,000 3,000,000 -400,000
WESIFA 20,000 20,000 0
WE2HA 20,000 20,000 0
NEHA A2 H 0| =2 580,000 580,000 0
UNESPY Pl Reag = RO PSECEST 580,000 580,000 0
HH| AL EE 52 5,000 5,000 0
S| AHAAIEZ 2 5,000 5,000 0
JIEtOHEHE & =2 415,000 15,000 400,000
JIEHAtSHE A =0l 415,000 15,000 400,000
NE == 32,900,000 32,900,000 0
=23X3= 32,300,000 32,300,000 0
WEIASI|I=FXN2 S 5,200,000 5,200,000
JIEt=0X&3 26,500,000 26,500,000 0
K AHK 2= 600,000 600,000 0
JIEtXI&= 600,000 600,000 0
MM EAS 600,000 600,000 0
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dYIIR3= 40,000 40,000
JIRax4 40,000 40,000
AU |22 20,000 20,000
NEINE2 20,000 20,000
292+ 143,000 143,000
2de 2 143,000 143,000
Ol kb= 140,000 140,000
JEt2g e+ 3,000 3,000
29 3 36,703,000 36,703,000
PATAE PN Eagel 3,000 3,000
SERHAHOH2HTH 3,000 3,000
JIAHDI =200 =2 CH 3,000 3,000
Jl=9 X 7,815,188 7,815,188
=2 & 2l 7,818,188 7,818,188
A2 = 44,521,188 44,521,188







20122l AIA = A1l FIHEE As0ldkA

(20124 38 12 £H - 20134 28 282 tXl)

NS S &R
=
1XF2 2 0fl &t =20 & =32t MEI|E
2 3t =
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i Fals] 5,000 5,000 0
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g al sl 5,000 5,000 0
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i Fals] 9,000,000 9,000,000 0
A HZ I 16,000,000 16,000,000 0
nE=X=X-T] 320,000 320,000 0
i Fals] 50,000 50,000 0
w=nEI L 20,000 20,000 0
P gele= 150,000 150,000 0
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2,000 2,000 0
3,000 3,000 0
E= 2,500,000 500,000 2,000,000
A 20,000 10,000 10,000
JIEreH ot 100,000 100,000 0
JIEteH QAHI 100,000 100,000 0
gl = 100,000 100,000 0
SETEY 33,471,000 31,471,000 2,000,000
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SHHSNALHIE 300,000 300,000 0
HRESSWK S 300,000 300,000 0
EEZIHESYZNE 300,000 300,000 0
HISSXH& 4,130,000 4,130,000 0
QXA 4,000,000 4,000,000 0
I H I+ 3,700,000 3,500,000 200,000
HIIHIS 300,000 500,000 -200,000
CEIN, 130,000 130,000 0
KI&THAHA 130,000 130,000 0
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JIEt2g e+ 3,000,000 |2IEt2Z2 £ 3,000,000&*14 = 3,000,000
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ol 24| 5,000,000 |&SH AIEW= 2,500,000 +22A = 5,000,000
n=E O LI 2,000,000 |[&HSH 2IE WS 1,000,000&*22H = 2,000,000
&stg 4,000,000 |&SH !IEW= 2,000,000 +2A = 4,000,000
A g A S 5,000,000 |[&SH RIE WS 2,500,000&*22H = 5,000,000
JIEBtn=23Hh| 4,000,000 |&SH !IEW= 2,000,000 *2A = 4,000,000
NETHAA RS 0| &H| 70,000,000
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HIRSX & 4,130,000, 000
SET A 4,000,000, 000
JIH I F 3,700,000,000 | ¥ 2+t&Hl AFY &HI? 3,700,000,000& %14l = 3,700,000,000
183 300,000,000 |&+ & 2t&Hl At HIS-E 300,000,000 *141 = 300,000,000
SET 130,000,000
PNESPN R 130,000,000 |2UHXIETHAA E=RASSEHl 2,000,000& #3521 = 70,000,000
SAXNEM A SRS SEH 12,000,000& 521 = 60,000,000
Jlgol X3 6,620, 187,946
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XNBNE Gl S 44,51,187,946
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